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RS 1 7 KH H=E BETHESKROPEN) 1 1 1 34 46.290
2 12 LA 3k FHILEREPFER 1 2 2 21 47.930
31 =H # BSTC 1 2 3 13 47.160
4 6 Ml EX STBHSER 1 1 4 8 46.310

AR 5 9 R [EE BEHFFER 2 3 47.910
6 13 E BX #5)1ISSAEEH] 2 3 50.440
7 5 L AX SR 2 4 49.360
8 11 EIlF mZs BEFEEPFER 2 4 51.410

FiE 9 10 &y #ER TP FER 3 52.060
10 16 KFEP B2 BAMEEIEESKR 3 52.670
11 2 PoBp BExX BSTC 3 52.840
12 15 HE F* BAMEEIESR 3 53.040
13 3 UK &7 Vortex 4 53.160
14 14 &L =) #5)1|SSAMEEH] 4 54.260
15 4 &FX =% Vortex 4 1.00.180
16 8 KX [EH [EESS/VEFH] 4 1.01.410
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